H & 0l & AHS B Ml A

20238 =0ila eI S

S SRR
M HYRAZH(SXXE1L)
CHel: QI 2AH|(SXIXIR D) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SXIX2 4,476,166 4,467,336 8,830
= 1,142,096
[ 75,999
Al 1,818,679
- 1,439,392
HH2LIHI(SXXAD) 225,077 201,668 23,409
= 67,752
Al 33,876
- 123,449
I (SXXIEL) 191,807 165,758 26,049
= 67,752
Al 33,876
- 90,179
IS 2HH|(SEAtAIZEIAL QIAH] XIH) 191,807 118,19%6 73,611
= 67,752
Al 33,876
- 90,179
101 @124H| 166,675 100,471 66,204
= 64,876
Al 32,438
- 69,361
03 SR (RINHA) 222+ 166,675 100,471 66,204
OS S A2l At 166,675
—Jlzs 8.,757,166& x 123 105,086
= 52,543
Al 26,271
- 26,272
— 24| 140, 0002542+ 128 6.720
—ARRteIERAY
45,6793 x150%+30AI 2H* 128 24,667
= 12,333
Al 6,167
- 6,167
RPN R == 45,679 xBAI2t* 152 5,482
—ItEE 340,000 * 122 4,080
—SEFOHI 5,272,000& 2] 10,544
—3d2=+4 3,668,000 23] 7,336
—d2+8 s 230,000 x 122 2,760
202 04| 5,760 4,320 1,440
= 2,876
Al 1,438
- 1,446
01 =LHOHI 5,760 4,320 1,440




S SRR
S HY2IZH|(SXIXAD)
CHRl: CIER9H|(SXIXIAD) (CH9: /M)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OE&F0HI 120,000& x4+ 122 5,760
= 2,876
Al 1,438
- 1,446
4 HAZRE3S 19,372 13,405 5,967
M SRH(PINHSL)2ZX B828€=2 S 19,372 3,152 16,220
o=gaz 157,300 x4 B =123 7,551
(@raFigst=: 146,070 x4 B+ 123 7,012
OLNBANEE 100, 170& 4B+ 122 4,809
Jl2dul(SXIXI& 1) 33,270 35,910 A2,640
Jl2ZHI(SXIXI& ) 33,270 35,910 A2,640
201 Ler23| 22,650 23,850 A1,200
01 AtR2elt] 14,250 14,250 0
ORN2IYe=2H| 5,400,000 x95% 5,130
OJ 2R E20HAHI 9,120
— By 8,000 x 15 53| 12& 7,200
—J|EHE 8,000 x4 +53|« 123 1,920
02 B3=2gH| 8,400 9,600 21,200
03322 2 HMAl 8,400
—MIIe3 400,000& *12& 4,800
—RERF 200,000& =123 2,400
—AOIStvdlZ 20,000& *12& 240
—0lsdEsI| AMEZ
40,0003 =2CH* 123 960
202 0idl 7,200 8,640 A1,440
01 =WO4bI 7,200 8,640 A1,440
OJ|2gR+dEE 0| 7,200
— By 40,0002 *15H x 123 7,200
203 HRF&lY| 3,420 3,420
M EA2IHRF=LH| 3,420 3,420
ORA2ILRF&I
300, 0003 * 12 x95% 3,420
285X K& 1,551,103 1,530,975 20,128
= 1,068,344
Al 308,663
- 174,09%
225X K& 1,551,103 1,530,975 20,128
= 1,068,344
Al 308,663
- 174,09%
212=X XA 1,148,000 770,000 378,000
= 918,400
Al 114,800




2A:

SXIXIZ 4

ma: 32X A
ol 28=X X3 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 114,800
301 EtE NS 1,148,000 770,000 378,000
= 918,400
Al 114,800
- 114,800
01 Al EE AT Z(2DEXR) 1,148,000 770,000 378,000
O2Z=A XA 1,148,000,000& 1,148,000
= 918,400
Al 114,800
T 114,800
28XE 1290|SE =2Y 9,215 8,3% 820
201 er2 3| 9,215 8,3% 820
01 AtR2t2|HI 7,715 6,895 820
OUSAE 1290|188 SUHE AME=
25,000~ 122 300
Oz 1290|set 2484 & E24|
500,0002! 500
OLBNAOISAS| EAAL
70,0002 %9 %103 6,300
ORI €= & o0 HE 1552 S
= 6,400 +82]x 123 615
02 s3=gHl 1,500 1,500 0
OXr&=Al2ell 1,500,000 1,500
SOS 2= = AIAH 94,000 66,000 28,000
Al 94,000
301 Eet2 NS 94,000 66,000 28,000
Al 94,000
02 A2 A LGS (FHAAHS, NLWE) 94,000 66,000 28,000
OS0S 2IE= XA 94,000,000& 94,000
Al 94,000
MEXAH] XA 299,888 686,580 386,692
= 149,944
Al 99,863
- 50,081
301 2eEN= 299,888 686,580 A386,692
= 149,944
Al 99,863
- 50,081
01 Al EE AL S(FREXH) 299,888 686,580 386,692
O - At ZelXt MEX&Hl X
299,888,000 299,888
= 149,944
Al 99,863
- 50,081




2A:
X XH -
o e

=aak

SXIXIZ 4
ARt E Y 25t
Atefl2tel X2

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
A2 otM 2 25t 2,699,986 2,734,693 N34, 707
= 6,000
= 75,999
Al 1,476,140
- 1,141,847
Ateil2tel X1 121,520 105,350 16,170
= 6,000
[ 75,999
Al 19,286
- 20,235
AZ7 SEAtel2tel X3 12,950 12,950 0
= 6,000
Al 3,000
- 3,950
201 el 8,400 8,400 0
= 4,200
Al 2,100
- 2,100
01 At2t2l] 8,400 8,400 0
OAtell2tel 23l 8,400,000 8,400
= 4,200
Al 2,100
- 2,100
203 =] 950 950
03 A=A 2= 950 950
OF s &2 =& 1,000, 0002 *95% 950
301 EtE NS 3,600 3,600 0
= 1,800
Al 900
- 900
01 AR 2EHSHS(RNEXRTH) 3,600 3,600 0
OAteli2tel ekt SXIAHIA X2
3,600,000& 3,600
= 1,800
Al 900
- 900
SHS ¥ SEAMHA X 108,570 92,400 16,170
s 75,999
Al 16,286
- 16,285
201 2= 75,999 64,680 11,319
= 53,199
Al 11,400




2A:

SXIXIZ 4

. Atelotd e 2t
Rl Atdi2tel X3 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 11,400
01 AtR2t2|HI 75,999 64,680 11,319
OS Atdl&tel 248l 6,909,000 1S 75,999
[ 53,199
Al 11,400
- 11,400
301 LEetE2 N = 32,571 21,720 4,851
[ 22,800
Al 4,886
- 4,885
01 Al EE A2 (2RNEXMR) 32,571 271,720 4,851
S Atddl2tel e SXIAHIA XI&Y
2,961,000&+11S 32,571
[ 22,800
Al 4,886
- 4,885
NAMIESHAHRE 18,108 11,503 6,605
Al 6,795
- 11,313
SH0I=XB0I2Y 6,003 6,003
201 et 3| 6,003 6,003
01 AtR2tc|Hl 5,357 5,357
OoI=Xx2dol g2 2<% 5,357
—sns BEAIES HIS
1526002 *362/*1. 1= 357
—S2=23(gs+8 S) AH
10,0002 *500 5,000
03 &A= 646 646 0
O0I=X&Z0l W= 46,0002 %12 646
FAHS 20101 2elMAE 7= 12,105 5,500 6,605
Al 6,79%
T 5,310
201 er23 | 12,105 0 12,105
Al 6,795
- 5,310
01 At2teltl 12,105 0 12,105
OFAAS 221918 2L (SSE40
) S4&Hl X 33,0003 *45% 1,485
Al 1,485
OAIDNIOIZ SSAHIA Sata & 23 Al
== 3,0002 x205H 123 10,620
Al 5,310
- 5,310
ARISX2 2E 2,465,430 2,551,582 N86,152




2A:

SXIXIZ 4

M Atelotd e 2t
=Rl AlRISA 2 (SH &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
Al 1,431,059
T 1,034,371
ARl =X 2 1,016,257 1,195,400 AT79,143
Al 955,691
- 60,566
307 212t01™ 895,125 872,472 22,653
Al 895,125
10 Al SXAEEHE 22X 895,125 872,472 22,653
OH0IIE S AR =S X2 22 878,825
—Ate|= X2 el2y| 758,575,000 758,575
Al 758,575
—Al2ISX2 28| 62,444,000& 62,444
Al 62,444
—ABI=XE TR0 2|
57,806,000 57,806
Al 57,806
O&0IIIASSAIRI S X2 SALA SXE =+
4,100,000& 4,100
Al 4,100
OE0IIIASEAIRI S X2 SAAF H2H T
] 2,000,000& 2,000
Al 2,000
OMODILSEABI= T2 22l4e o 22
] 10,200,000& 10,200
Al 10,200
402 2I2FX=01 & 121,132 322,928 A201,79%
Al 60,566
- 60,566
02 RIENEASEZ(0IETHR) 121,132 322,928 A201,7%
O&0IIIASEAIRI =X 2 JISES At
121,132,000 121,132
Al 60,566
- 60,566
LSS =AHE 2 XS 715,030 715,926 A8
Al 363,015
- 362,015
201 eer23y| 150 150
02 S3=gHl 150 150
OgE3Z=NHH NERYFES &7
150,000 150
307 212t01& 714,880 715,926 1,046
Al 363,015
- 361,865
10 Al SXAEEHE2EHI 22X 714,880 715,926 1,046




A SXXE

M Atelotd e 2t
=Rl AlRISA 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ogssa=AdE 29 N3 703,730
~UETY=TME Q12|
503,730,000 503,730
Al 251,865
- 251,865
—HETALTME 28|
70,000,000 70,000
Al 35,000
T 35,000
—IEILSANYH T2 23|
130,000,000 130,000
Al 65,000
- 65,000
OFEZU=NME EAX =XES
2,750,000 2,750
Al 2,750
OYBTU=TME SAX A22Y
1,200,000& 1,200
Al 1,200
OYZBA=THE SAX 22H L 212
A =g 7,200,000 7,200
Al 7,200
FEWIAMY K 81,216 62,468 18,748
Al 41,158
- 40,058
307 212+01& 81,216 62,468 18,748
Al 41,158
- 40,058
11 AMEISXAEEES 81,216 62,468 18,748
OZEYWIANY XA 80,116
—QIA4H| 56,616,000 *1H 56,616
Al 28,308
- 28,308
—=34| 23,500,000& 23,500
Al 11,750
- 11,750
ZEWT AL SXES
150,000& #2314 300
Al 300
OFC3 SALL =8| NI
50,0002 x 18 x 122 600
Al 600
OZSUWAS AR A 228
200,000 *1 200
Al 200




2A:

X XH -
o=

SXIXIZ 4
ARt E Y 25t
ARISX2 2E

el EERE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ZEOBEIMY XIZ 140,690 176,944 N36,254
Al 71,195
- 69,49%
307 el2to| & 140,690 146,944 26,254
Al 71,195
- 69,495
1 AMISXAIEEXS 140,690 146,944 N6,254
OFL0BIAME X 98,510
—QI24H| 41,390,000& *1& 41,390
Al 20,695
- 20,695
—2gH| 57,120,000& 57,120
Al 28,560
- 28,560
OZE0E! SAHA X8
125,0003 %231 250
Al 250
OZZ0EISAHAL S8l A&
50,0002 x 18 x 122 600
Al 600
OFC=0rt =SteAtdlA AN 40,480
—Q1244| 36,780,000& 1 36,780
Al 18,390
- 18,390
—2gH| 3,700,000 3,700
Al 1,850
- 1,850
OZC0! =SHHEAMBIA SAL SXE =+
125,000& %23 *1d 250
Al 250
OO SSHHEAMBIA SALA =88] Xl
2 50,0008 x1&x 122 600
Al 600
ASISRHME X (ASISXIAILE) (HEAY) 512,237 400,844 111,393
301 EtE N = 512,237 400,844 111,393
10 MSRREENS 512,237 400,844 111,393
OAI=223 2d= 512,237
—M2I=X20F S0 403,200,000 403,200
—A2ISXI20F nSH| 28,829,000 28,829
— A= X220t U=y
324,000 84 2,592
—ARISXIZ20F S4HI
7,000 +42E »22L « 12 77,616
oble SXABIA 25,768 34,208 A\8,440




SA: SXIKIRD
S Atelotd e 2t
els 0Pl SAIABIA (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 19,000
T 6,768
R0t MEAHIA 19,000 22,000 23,000
Al 19,000
307 21201 & 19,000 22,000 A3,000
Al 19,000
1 AMEISXAIEES 19,000 22,000 A3,000
OO0t MEABIA 19,000,000 19,000
Al 19,000
HoPts 2EASAAHA 2Y 6,768 12,208 25,440
201 er23| 6,768 7,368 2600
01 At2teltl 6,768 7,368 2600
OO0t EHEXAMHIA 4= AldlE X
= 6,000,000& 6,000
OLEEZ S 6,4002 %103 x 122 768
KSAS| =X &d st 69,160 32,050 37,110
= NGA2EEoH 22 64,160 15,050 49,110
201 2egh=3| 19,450 12,900 6,550
01 At2t2ltl 4,000 0 4,000
ORIl & NSA2I2EE2AM |17 S Tl
= 12,0003 »250 3,000
ORM5II S XS A2 E AR A=
NES 4,000 x250H 1,000
03 A= 15,450 12,900 2,550
Os NSALIEZE N ADS
6,650,000 6,650
Olt=sXAHE gU2103]
5,600,000& 5,600
Odgt+==H| 3,200
—Ctaty 3,000 +200H *23] 1,200
—E2= & 2,000,000& 2,000
203 HR=H] 950 950
03 A=A 2= 950 950
OXNSA2ZE N S22 =8
1,000, 0002 *95% 950
301 EtE2 NS 1,440 1,200 240
11 #AIAHIXIZ = 1,440 1,200 240
Os NSALIEFE AN AdEs S
8,000 x00H *24| 1,440
307 212+01& 42,320 42,320
11 AMEISXAEEES 42,320 42,320
Os ot=sXAHE X2 42,320,000 42,320
NS 29 5,000 17,000 A12,000
201 er2&| 5,000 5,000 0




2A:

SXIXIZ 4

HEH: ASOHAM G 2435}
&l XGASISX 84835t (EEEE))
- _ olE|
SA - B S(BH) - MISAY - BAS Ofl kot OE”E& HR=2
01 AFR22t2lHl 5,000 5,000 0
OX SR X M2
10,000 x500& 5,000

_10_




